=LFDb

*UXSD 5R]INEDG 33:- ¢ & 7\J
o
™
oD
D
—_
o3
=
™
7N 7\ 7N 7\ 7\G]
%RPHG\F]QH SRGVIDZ\ IR] ZRIX L /UHUDIXUD GID GJIHFL GZ GU -XV]FT\N 3HGDJRJIIND RIYIQD iZ GU OHIRG\ XFTHQLD VIC L VIXGIRZDQID 1Z %RPHG\F]QH SRGVIDZ\ URTZRIX |
Z\FKRZDQID UZ GU -DUJ\EVND ,UHQD 5\JDiR -RDQQD = 33: - -DQXVJHZVND (G\ID = 33: | [6U 6NRFINIDV _URID (GNID = Z\FKRZDQD Z GU -DUJ\EVND ,UHQD
- 33:- = & & 33:- = - - & 33:- ¢ & - 33:- = & 33:- =
7\G] 7N 7\G] 7\6] -
3VAFKRIRJID RJYIQD iiZ 3HGDJRJIND RIyIQD Z Gl 3HGDJRJIND RIyIQD Z Gl 3HGDJRJIND RIYIQD iiZ GU
GU - RUQDFND BNZDUD -DQXVJHZVND (G\ID = 33: -DQXVIHZVND (G\ID = 33: -DQXV]HZVND (G\ID = 33:
(ITELHID = z & 33:- = z z & 33:- = z z &
33:- ¢ & 33:
z z 7\J 7\G] 7\G]
3HGDJRJIND RIYIQD UZ GU 7HRUHINF]QH SRGVIDZ\ NV]IDiFHQLD +IVIRUD Z\FKRZDQLD SUTHGVINRIQHIR
-DQXV]HZVND (GNID = 33: iiZ GUaDSRI OWRViDZ = ZFJHVQRVINRIQHIR UZ GU &DSRI
- & 33:- ¢ - 33: = & OlRViDZ = 33:- = &
33:- = -
7\G] 7\G]
+IVIRUD Z\FKRZDQ.D 3HGHXIRIRILD UZ %HUQDIRYD SHQDID 7\G]
SUTHGVINRIQHJR L E 33: = & 33: 1 3HGHXIRIRILD 1Z %HUQDIRYD SHQDID
ZFTHVORVINRIQHIR 1Z : E 33: = & 33: 7
a GU ADSRI OLRViDZ = :
% 33:- ¢ & 7\G]
@ DICFID Z HIHUQLQJ 7HRUHINF]QH SRGVIDZ\
> NV]IDIFHQLD GZ GU
7\G] ADSRI OLRVIDZ =
3HGDJRJIND RIYIQD GZ G 33 &
- W] - -
:DQXV]&HZVND (G\ID = 33: o~
%RPHG\F]QH SRGVIDZ\ URTZRIX |
7\G] Z\FKRZDQLD G]IHFND GU -DU]\EVND
" JUHQD = 33:- ¢ &
+VIRUD Z\FKRZDQID SUTHGVINRIQHIR | 28 =
ZFJHVQRVINRIQHJR (iZ GU aDSRI == -
OUWRViDZ - 33:: & o~
7\G] SHGHXIRIRILD Z %HUQDIRYD SHQDID
HVIRUID Z\FKRZDQD | |= _ 33F % & 3323
SUTHGVINRIQHJR L :
ZFTHVORVINRIQHIR = GU G
ADSRI OLURVIDZ = 1
33: = & +IVIRUD Z\FKRZDQLD SUTHGVINRIQHJR
ZFJHVQRVINRIQHJR = GU aDSRII
OURViDZ = 33: = &
33:- = -




=LFDb

3VA\FKRIRJID Z GU
-RUQDFND 6NZDUD
(IEHHID =

33:- = & 33:

*UXSD 5R]INEDG 33:- ¢ & 7\J
7\6]
+VIRUD
o) Z\FKRZDQ
z D iz Gl
u ADSRI
& OURVIDZ
33:- =
&
33: =
7\¢] 7\6] 7\¢] 7\6]
3VAFKRIRJID RJyIQD Z 3VAFKRIRIID RJYIQD (Z GU . RUQDFND 6NZDID SHGHXIRIRJID Z %HUQDIRYD SHQDID 3HGHXIRIRJID iZ %HUQDIRYD SHQDID
GU - RUQDFND 6NZDUD QTEHID = 33- - &  33: - 33- - &  33: - 33: = & 33:
(TEHID = z z z
33: - &  33:
z z 7\G]
3VAFKRIRJID RJYIQD 1Z GU . RUQDFND BNZDUD (ITELHID
7e] : 33: - &  33:
3V\FKRIRJID RJYIQD Z GU - RUQDFND
a 6NZDUD (ITELHID = 33: =
S & 33:- ¢
L
o 7\G] 7\G]
L 3VAFKRIRJID RJyIQD Z 3VAFKRIRIID RJYIQD (Z GU . RUQDFND BNZDUD
© GU - RUQDFND 6NZDUD QTEHID = 33- - &  33:
(TEHID = z
33: - &  33:
z z 7\G]
N 3VAFKRIRIID RJYIQD (iZ GU . RUQDFND 6NZDUD
7\G] CTEHID : 33: - &  33:




